Section 4.3 (page 278)
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No. There is a discontinuity at x = 4.
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n 4 8 12 16 20

L(n) | 3.6830 | 3.9956 | 4.0707 | 4.1016 | 4.1177

M(n) | 4.3082 | 4.2076 | 4.1838 | 4.1740 | 4.1690

R(n) | 3.6830 | 3.9956 | 4.0707 | 4.1016 | 4.1177

n B 8 12 16 20

L(n) | 0.5890 | 0.6872 | 0.7199 | 0.7363 | 0.7461

M(n) | 0.7854 | 0.7854 | 0.7854 | 0.7854 | 0.7854

R(n) | 09817 | 0.8836 | 0.8508 | 0.8345 | 0.8247

True  67. True

2
False: f (=x)dx = -2 T1. 272 13. Proof
o

No. No matter how small the subintervals, the number of
both rational and irrational numbers within each subinterval is
infinite and f(c;) = O or f(c;) = 1.

a = —1and b = | maximize the integral. ~ 79. }



